(RN
<

g f g
= 8
[
S - %
[ .
b
x
107 i
.910—3_ L ....! dh bl .! L ......! Liiun .910—3: L L ann .“I L ......! L inn
T 2 : : < 15 :
24 ol o E
» + =
=1 E
X 0.5
10* 1 1 2 10 10 1 1 2 10
0 TP p())T (PCA t%obeamllnef) 0 TP FS)T (PCA t%obeamllnef)
[—=— DQM original_StepZ_Tbar-phasel-Newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
=~ 1 = 1
1] F €
S =
= F >
o 3
) [s]
107"
1072k
0107 o107k
< 15F--H: < 15F
R N e F.3
1_—- S B 1__. B
0.5F- 0.5F- i
10 1 10 0 . 10° 10* 1 10 0 . 10°
TPp, (PCA t%) beamllnef) TPp, (PCA t%) beamllnef)
n=
o
s
o
2
©

1072
15

10

Rat

iy
TTTTTI T TTTT

o
h
=

1 10

: 2 3
TP, (PCA t%obeamlin%)o



	Contents
	Page 1


